wmEl0A S5108 S
I_)"/ L}‘ e
LA L™
B seszezan (@)
| RoFEZLILLI, HIYUrHBNILE, HEVLEALFTLLI,

(1) 72 x 6 - 125 + 5
=432 - 25
= 408

(3) 56 + 12 X (24 - 19)

=56+ 12X5
=56 + 60
=116
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(1) 34 X20 X5 100 g>¢y2Le>

=34 X100
= 3400

(3) 1002 x 32
= 1000 X 32+ 2 X 32

= 3200 + 64
= 3264

(5) 37 X 69 + 37 X 3|
=37 X (69+31)
=37 X 100
= 3700
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AXO+0=0

7TX 14+5=103

(3) 21 X 10 - 8 X |15 | =90

210-7?=90 DT,
212l 120 N5

120 -8 =15

(2)

(4)

(2)

(4)

(6)

ICHTIEBHEEAZLL,

(2)

(4)

189 -(187 - 5 X 4)
=189-(187-20)
=189 - 167

=22

168 ~ (71 X 3 - 192)

=168+ (213-192)

=168+ 2|
=8
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4 X 1T X 25 00 o<y
=100 X |7
= 1700
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125 X 14 X8 000 25¢y2L 13
= 1000 X 14
= 14000

131 X 54 - 31 X 54
= (131 -31)x54

= 100 X 54
= 5400
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247 - 19=13
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?+5=30 T, 30X5=150
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| 4XO+24=150 %D T,
l4XO=126. 126=14=9

+ 24) + 5 =30




